Esegui le equivalenze.

410mm=...........ccoernnn dm
713 dam=........ccccoeeennn. hm BEHER, oeiii m
0,05m=.......cccoeviniin. cm 0. 75 KM= viatebesn i hm
Q37 B0 = wmvammsninasion dm 453 C = .....ccooeerrrenanrenan m
TR S m 43,6 km=..................... dam
0,04dm=......coooveee. mm 455dam= ... ................. m
0,08km=_.......cccovevennns hm 744 dam=................c...... m

Esegui le equivalenze.
410mm=................... dm
BRI = i m

075 ks wonabentot i hm

453 cm=.....oocoocerrrrernnns m
DO = ... cicns s nomns m 43,6 km=......ccecoinnnn. dam
004dm= ... mm 455dam=...........ccc.c...... m
0,08km=........cceinenn. hm 744 dam=...........c.cooevennn. m
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